PART I : GENERAL INTELLIGENCE AND REASONING

questions no. 10 to 18, find the odd

Directions : [z questions no. 1 to 9, select the | Directions : In # ‘
nlated umni.{;:lfeﬂ/""mbe’ from the giyen word/letterslnumberlnumber pair- from the given
alternatives. el
1.  Prediction : Future : : Regret: ? 10. (A) Tired (IB)) :‘::ly
(A) Past (B) Present () Sew =
(C) Sin (D) Time 11. (A) Agitation (B) Confusion
2.  Adversary : Enemy : : Adversity : ?_ (C) Commotion (D) Annihilation
. D i 5
X DED | e e
. (C) Sun:Star (D) Painter:Artist
i ird : W 2t 27
3. Bird Hoorms_b] 13. (A) EDC (B) MLK
‘(‘;’) 1&::6 h:; (©) NPR (D) XWV
(C) Lion : Cave 14. (A) MOQS (B) ZADE
(D) Cat : Mouse (C) CEGI (D) SUWY
4. . MAD:JXA::RUN:2 15. (A) NILE (B) LIEN
() 05Q () PRI (€) LINE (D) LEAN
(C) UXQ (D) ORK
' 16. (A) 78 (B) 91
5. BEGK:ADFJ::PSVY: ?
— C) 84 D
(AY ORUX o W ©) (D) 26
(©) LQUT (D) LOQT 17. (A) 48 (B) 96
T . © 59 (D) 12
(A) GHTS (B) TGSH 18. (A) 16-32 (B) 19-38
(C) GTHS (D) GSTH (C) 21-40 (D) 23-46
7. 42:20::64:7
(A) 31 (B) 32 19. Which one of the given responses would be a
(C) 33 (D) 384 meaningful order of the following words in
. ascending order ?
8 6:18::4:27 1. Probation
(A) 6 (B) 8 2. Interview
© 10 (D) 14 3. Selection
4. Appointment
9. 8:24::2:32 5. Advertisement
A 5 (B) 6 (4) 5,2,3,4,1 (B) 5,3,2,1,4
€ 10 (D) 8 €) 54,23 1 (D) 4,5,1,2,3
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4 Bead ‘beloWw in g 27- Which one set of letters when sequentia)
30.” Arrange ‘h.:qu::::? placed at the Baps in the given letter serig
xln Pniﬁ:r shall complete it ?
2. Publisher h_t_1_tt_lht m_htt_l
3. ‘Writer (A) mmhtltm (B) hmmttlm
4.  Editor (C) tmhmtlm (D) Imtmhmt
5. Seller - . .
(A) 2.3,4,1,5 (B) 3,4,2,15 28, A and B are a married couple. C and D arg
' ' . C is the brother of A. How is
D 2’ 4’ 31 6' l brothers
(C) 8,41,25 (D) diad R} [
21. Which of the following words will come fourth (A) Brother-in-law (B) Brother
if aﬂmgd aceording to the EngliSh (C) Son-in-law (D) Cousin
dictionary ?
(A) Rain (B) Reef 29, The average age of the present ages of Amit
: and Anil is 32 years. If Amit is 6 years older
(©) Redy @) Bakbesy than Anil, what is Anil’s present age ? =
Directions : In questions no. 22 to 26, a series is (A) 29 years (B) 38 years
given, with one term missing. Choose the correct (C) 26 years (D) 19 years
alternati the gi that will let .
st WL foa ol e e 30. From the given alternatives, select the word
' which cannot be formed using the letters of
22. ACE, GIK, MOQ, ? the given word. ‘
(A) RTU @) SUW JURISPRUDENCE
(©) UVW D) STV (A) PREJUDICE (B) PRINCE
(C) PRUNE (D) PRESIDENT
= » PQIT, TUVK, 2. : 31.  From the given alternative words, select the
(A) VWnP (B) PRsT “l?lord which can be formed using the letters d' '_ A
the given word.
(C) UVwy
(D} XYzB MONUM
24. 826, 480, 346,134, 7 (A) TENENT (B) TENT ,
(A 83 ®) 61 () MOUNT (D) MOVEMENT |
' |
€) 212 (D) 126 32. Ifin a certain code, DIAGRAM is written as
\ AFXDOXJ, then how can PICTURE be
25. 178,155,309, 7 1233 written in that code ? :
(A) 625 - (B) 123 (A) NGARSPC (B) MGAQRPB
(C) 1000 (D) 617 (C) NFYQROC (D) MFZQROB
33. If ABLE is written as 5324 and BINGO i
“o 5, 8' 16. 19, 38, 41,?_ written as 36178, then BANGLE can N
(A) 44 (B) written as
(€ 40 ™ "(A) 351724 (B) 356724
e (C) 321846 (D) 362417
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" stands for addition;
tion; “+’ stands for
of the following

If ‘+”undlf0!' division;
‘2 gtands for multiplica
subtracﬁon. then WhiCh
equaﬁonsiseorrect?

(A) 33-4+5x6+2=130
(B) 33x4-5+6+2=26
(C) 33+4x5+6-2=30
(D) 33-4+5+6x2=24

Sonu and his friend Rahul went for shopping.
Sonu had T 500 with him while Rahul had
Z 9240. Sonu spent twice as much as Rahul on
shopping. Now Sonu has three times as much
money as is left with Rahul. How much money

35,

did Sonu spend ?
(A) T 220 (B) T 60
(C) T 440 (D) ¥ 120
36. Which one of the following interchanges of
signs would make the given equation
correct, ?
5+3x8-12+4=3
(A) +and - (B) -and+
(C) +and x (D) +and =+
37. Some equations have been solved on the basis

of a certain system. Find the correct answer
for the unsolved equation on that basis.

If29 x 13 = 14, 76 x 26 = 34, then 64 x 14 =7
(A) 54 (B) 39
(C) 32 (D) 26

Directions : In questions no. 38 and 39, select the
missing number from the given responses.

38. 121 100 2 169
4 8 9 7
7 2 & 6
(A) 81 (B) 114
(€) 196 (D) 214
39. 1 49 16
123 4
W
(A) 8 (B) 7
€ 5 (D) 4

A girl leaves from her home. She first walks
30 m in North-West direction and then 30 m
in South-West direction. Next, she walks 30 m
in South-East direction. Finally, she turns
towards her house. In which direction is she
moving ?

(A) North-East

(B) North-West

(C) South-East

(D) South-West

41. Starting from a point O, Mahesh walks a
distance of 5 km South, then turns to his right
and walks 3 km. From there he again turns
right and walks 5 km. He then turns to his
left and walks 5 km. How far is he from the

starting point ? |
(A) 15km (B) 13km
(©) 8km (D) 5km

Directions : In questions no. 42 and 43, two
statements are given followed by two/ four
conclusions 1, I1, I and IV. You have to consider the
statements to be true, even if they seem to be at
variance from commonly known facts. You have to
decide which of the given conclusions can definitely
be drawn from the given statements. Indicate your
answer.

42. Statements :

1. All apples are oranges.
2. Some oranges are papayas.

Conclusions :

I.  Some applés are papayas.
II. Some papayas are apples.

(A) Only conclusion I follows

(B) Only conclusion II follows :
(C) Both conclusions I and II follow
(D) Neither conclusion [ nor 11 follows
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Statements <

1 Al geroplanes are trains.
2. Some trains are chairs.

43.

Conclusions <

I  Some aeroplanes are chairs.
Some chairs are aeroplanes.
gome chairs are trains.
Some trains are aeroplanes.

<EFR

None follows

Only conclusions I and II follow
Only conclusions IT and 111 follow
Only conclusions III and IV follow

(A)
(B)
(©)
(D)

How many triangles are there in the following
figure ?

(B) 18
(D) 22

(A) 16
(C) 20

Which of the following figures give the proper
relation to fruit, red and shirt ?

ano|CL '

O
(A ()

(B)
Which answer figure will complete the pattern
in the question figure ?

Question figure :

@

(D)

N

| AN

Answer figures :

C TC

(A) (B) ©) (D)

47.

From the given answer figures, select the one

in which the question figure 8

hidden/embedded. L o

Question figure : ;
4f

1,

Answer figures :

B ThA | &

(A) (B) (© - (D)

A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear
when opened. -

Question figures !
]
------- b W £)
t .
Answer figures :
) o
S
@ @ © o
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If a mirror is placed on the line My, y

: (cmerﬁgumsxsﬂwmmm
Gfthegnmﬁm? :

50. A word .is represented by only one set of

numbers as given in any one of the

“alternatives, The sets of numbers given in the

alitémaﬁrm are represented by two classes of
alphabets as in the two matrices given below.

| 45.

If A=26, SON=33 gy zt:;im?
(A) 57 (B) 59
© 27 D) 29

A.B: c““wm%wds ﬁisia‘iiefﬁthﬁé-nl
mﬂwwlest? s

(A) A
€ C

e Nzt

B) B |
D) D

5gmstoakpmmame Remuﬁmsw
before Mohini but' behind Gauri, Anag

finished bofore Sanchi but behind Mohias,
‘Who won the race 2

|
{A) Reena (B) Gauri ;
(C) Mohini (D) Ananya - o

i
Alladymtfmﬂmea the girl coming with he%vn
“she is the daughterufthe mother afmy

" husband’s son”. What- r&lahun did the gm '

The columns and rows of Matrix 1 are| ~ bear toher? -
numbered from 0 to 4 and that of Matrix 11 (&) Daughter (B) Smter |

are numbered fromi 5 10 9. A letter from thess {C) Cousin (D) Daughter-in-law
mmhﬁ"mn%dﬁmtbymmw 7 :
and next by its column, g, ‘O’ can be |48, Nikhilesh ranks 18%in a class of 40 students, | J
represented by 01, 33, ete,, and Q' can be What is his rank from the last ? -
represented by 55, 78, ete, Slmﬂariyi you have (A) 31 ®) a2 - :”j
Mﬂ&nﬁﬁf the set for the worﬂ'ME’l’ e ) 18 ™ 19 r
. Matrixy Matrix 11 o e
To[1Tzl2Ta 5161718]9]|4% In a certain code language, Wﬁ?;;m
olmfolr(alt] [Elatsttsh ‘mangoes are good’; 957 means eat {
elafasl [eleireln| e
2 RIAIL|M o) |7i1|g|T|{@Q|U ‘(ﬁ) ,9 (m 7 b
3lAlLIMO[R] |8lk[r[q|u]L i@) m; 4
@LHOR,& 9|7T|qlul1lE g
- 50. vmmm%ofhmm@ﬂsmadmmsw Ii:

_ in the school, find ‘&9
wzamasm,ﬂ are 520 boys, L :
1{B) 23,76, 95, 40, 44 number of girls in that schoo 7
1C). 32,7, 95, 44,04 @ 170 ® 31
D) 32,76, 44,95, 04 __© 312 D) 866 A
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r

m? o canm’l thmtgh Pﬂbﬁe Distribution

 / y Principle of Taxation i8 given by
- (B) Adam Smith
(D) Joan Robinson

'Gﬂl@;pmg Inflation’ is also known as
w Creeping Inflation ‘

{B) Walking Inflation

(C) Running Inflation

(D) Hyper Inflation

55. Average Fixed Cost Curve is
{A) Downward sloping -
’ IB) Upward sloping
H}) ‘U shaped
/(D) V" shaped Pl
fA;g::k 368 of the Indian Constitution deals
T
la\) Amending Procedure
/ (B) Emergency Provisions _
i (0) nglmo Pmna@ Edum&mn

5’7 Who among the following roposed the
' ﬁi&m@m@ﬁ for a Constituent Asépémﬁ‘yﬁmm

54.

1935 ?

J(M M.N. Roy (B) Nehru

(B)) Gandhi (D) J,p, Narayan
53. Aemt&ngwpmmhbythequﬂiﬁﬁw

aﬂnﬂmutmtursn

(&) Self-confidence (B) Intelligence

(©) Tntegrity (D) Loyalty
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61.

, |

o

“The Three Emperors’ League”, 1873 was also |
- |

primarily a mawmfugﬁ? of
(&) Apology (B) Phaedo |
(C) The Statesman (D) The Republic
Wwﬁ%ﬂhm@a“ﬂmmm'
(A) M@u!_amAzaﬂ ;
(B) Muhammad Al Jinnah ) i
(C) Abdul Ghaffar Khan i
(D) Shaukat Ali f 1
The capital of Yadava kings was ]
(A) Krishnagiri ~ (B) Devagiric |
(C) Varanasi (D) Kanchipuram |
The fall of Bastille is associated with the ’
(A) Greek War of Independence !
(B) Russian Revolution of November, 1917
(C) French Revolution of 1789 (
(D) American War of Independence

Which Governor General was called as Ihq
“Father of Local Self-ﬁovemmem’ in lnd”ih T

(A) Lord Ripon 1 7 *
(B) Lord Wellesley j{

(C) Lord Canning
(D) Lord William Bentinck

known as

{A) The Dual Alliance

(B) Dreikaiserbund Treaty |
(C) Triple Alliance ' |
(D) Reinsurance Treaty }
Panditraj Jﬂgﬁ’n’ﬁiﬂi was the poet laureate of | /
’w}ﬁeh of the following rulers ? f |
(A) Humayun (B) Akbar /f
(© Shah.hhan (D) Aurangzeb 5‘5‘
Which of the foﬂmng is f@rme& out
w%came empmm in Ing y ,:

(B) DWPIIIW A
(C) LakshadweepIslands — —2 - 7
D) ‘Wmﬁemt}hw . s ,




70.

72,

" LG) -Relative hﬁfm{my

(JB) mps@amm

(B) Mt Blane
(D)’ Mt. Elbrus

© “msmsus
,Wha hiﬂ th'e foundation of the ‘Sehm'n of

Possibilism’ ?
(A)f Rﬁtzé‘f (B) Brunches
m:a LaBlmhe (D) Humboldt

%elymmmrhélps in the és’&matiﬁn of
(A), ‘Wind direction

(B“}, Evaptstrmsp‘imhm

(D), Vapour pressure
Gmmmﬁs that are needed for fenmnss to
fﬂm‘ﬁonpmpeﬂym
.(C) Vimmﬁis

Heavy wa%ef is
(ﬂ} Deuterium omde

®) Stersids
(D) Heavy metals

P mr Deuterium -

73.

4.

5. |

lc) Rain water
(33}) Tritium oxide

Wimh one of the following is. commonly
mnm%nasm'

m Ulothrix (B) Spirogyra
10 Rhizopus (D) Yeast
“’Gynecumasﬁa"is

A8) Development of breasts in males

Wb Deveioymmtofhmroneammmﬂeﬁ
j(e) incmgﬂhaghtmfemahs a
rﬂ)) ﬂw«alcpment of an extra ﬁnger in
', females

| The Mm coneentration of urea is fmmd in

w Renal vein (B) Hé;pﬁﬁcm”i‘_‘ '

0 Dorsalaorta (D) Hepatic vein

AD/2016/Page 14

78.

|79,

81.

" (C) SRAM

82,

(A) Low temperature fB) High %mtnm
(C) Superconductor (D) Production bffueb

To prevent damage from lightning, hgbtmng

wndummmﬁﬁnhnsmcﬁm The -

Tightning conductor -~ - B

(A) should be. mﬁeo’i‘agﬁﬁd cmiﬂuc!m'hke
copper with sharp-pointed edges

(B) should be made of a good conductor but
can be of any shape r’

(C) should bein the fﬁrmnfaverﬁcnlmﬂ S ,;

(D) can be of any shape "f,_f; 5

Infrared radiations are detected by )

(A) spemummf Fiosy |

(B) Pyrometer T

(C) Nanometer ;

(D) Photometer (

Beta rays emitted by a radjoaﬁﬁve ma ﬁ;iai

are i

(A Electromagnetic radiations aJ

(B) The electrons orbiting around the

nucleus
(C) Charged particles emitted by mucleus
(D) Newtral particles
Which of the following computer mﬁmm'iﬂfs m
nofi-volatile 7 i
fA) RAM .

m

SR . .
L e T

(D) ROM

ﬁ

In present day computing, Whmhwﬂﬁsuseﬁ
anﬂmmptaﬂwaﬂﬂmﬂev .

(A 8CT ,

(B) ascm ' i
(C) Hollerith Code
(D) EBCDIC




o1.
" {A) Junagarh, Guj
~ (B) Diphu, Assam
(D) Kohima, Nagaland

* Whieh 6ne of the foﬂmz is not an artificial
Biygetener 7
(A) Aspartame  (B) Fructose
(C) Saccharin (D) Sueralose

Acid rain is caused by the pollution of

(A) Finland

An gcid having basicity one s

{A) Phosphoric acid '

(B) Sodium dihydrogen phosphate
(C)~ Disodium hydrogen phosphate -
(D) Sodium phosphate

Which one of the following

used in the manufacture a:fp:fw%:t;me ol is
(A) Cottonseed oil

(B) - Palm oil

{C) Sunflower oil

(D) Linseed oil

environment by

{A) Carbon dioxide and Nitrogen

(B) Carbon monoxide and Carbon dioxide
{C) Ozone and Carbon dioxide

{D) Nitrous oxide and Sulphur dioxide

mhﬂfthefﬁndmngwﬁw»amm
‘pollutant ?

(A) Oxidesof sulphur

(B) Oxides of nitrogen

© Hy&m&ﬁbon

(D) Smoke i ‘
Which of the following is called the %and of
one thousand lakes’ ?

(B) Sweden

(C) Greenlant iJD) USA

The tree pnpuhﬂy known as ‘Green Gold’, but
which is an ecological disaster,is

{A) Eucalyptus. (B) Banyan

{C) Pipal (D) None of these

Gnmpm%mmmlmﬁe&at

93.

95.
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im.’c §

:ﬁr zhe?w 2015 ? ' £
® MMWB’“’“
©) G. M. Reddy : ) ﬁf
(D) Vivekanand Kain
Entomology” is the scicnce that studies; r
{A) . lﬁﬁé@tﬁ ";
(B) Behaviour of human beings "> ;

(C) Formation of rocks -
(D) ‘None of these

|
)
‘Which country uses the Bir’ a agﬁscumney

Y
(A) Estonia (B) Ethiopia N
© Togo (D) Eritrea | !
How many Nobel Prize Awards are awmded
each year 7 ;
TV ® 5 ;4
@ 7 (D) 4
Wellington Trophy is associated with
() Bridge (B) Rowing
(©) Chess (D) Hockey f

. World Autism Awareness Day is -vbserved on

@ 1* April (B) grd April W
(©) 3™ April @) 5™ April
Who invented the ‘World Wide Web’ ? {
{A) Charles Babbage }
(D) R. Samuel Tomlinson j

m novel “When the River Steeps™ i w wmtteﬂ

fA‘* Essterine Kire () AmuradhaRoy

© VikramSeth (D) ShobhaaDe
in Mhich country did the, world's fi
rﬁﬁnimammtmmr? : /

(B) Gétma‘tny
m; Usa (D) Portugal



an error and

smW
W"’M m error, blacken the eircle

Maruti / from a Santro, / No error.

to exchange / MY
101, 1 mﬁt ® © o

6 A
102. mﬁwm extensive/ lawn in front/ of the bungalow. / No error. -

s (B) ic) (D)

) ,
i\"

ey B © (D)
104. - The navel officers / successfully fought the pxmtes /
A R -} |
who had looted and plundered for many years. / No error.
@ (D)

105. He acted not / as permy&ﬁme 7 bﬁtwﬂiébﬁd? else./No error. <~
(A) B © (D) '

v
i

g

‘a / state disarray. / No error.

1m ﬁechmnm the / rooim |
' © D)

‘ A

l
‘ t
{ ;
b1
.

107. Mbﬁh&é@mﬁwmimdadﬁwofﬁémmwwi

} the world hme ever pmhegd jugrmur
g ©

108, mmmfﬁvemememﬂkiﬁﬂmy%t?ﬂﬁmf -
', W (®) © M)

(i,
|
l

10. The ight ulbs /o the by meod 056 €hAPE0L. No .

é

110, Arecont survey indicates / gt the m0mber of drug addicts  grey, day by day-/ N0 7707
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101 to lzo some parts mmwmhmem
ol dwﬁe”m"‘mfﬁ (T.) @0,"

103. iW‘m men follow nobel /ideas whereas fools / disregard them. / No error;

REHE NSION -

I
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